1.  Mutual Materials, the major producer of bricks in the Pacific Northwest, recently bought the Mica, WA plant of Interpace Brick.  The merger was investigated by the FTC which expressed concern that after the merger Mutual would have significant market power.  How would you assess this claim if you had information pre and post merger on: 
a. Mutual’s and Interpace’s market share.

b. Other brick producers’ market shares.

c. Mutual’s marginal cost as compared to competitors.

d. Mutual’s average cost compared to competitors.

2. a.  Microsoft (MS) was accused of various monopoly practices by the Department of Justice.  Included in the accusations are claims of tie-in sales involving Internet Explorer IE, MS’s web browser, and MS Office, Microsoft’s business applications suite that combines Excel, Word, Outlook (mail manager), and, in some versions,  Power Point.

i.   Provide two alternative explanations for MS’s tie-in of IE, one of which implies that the tie-in is efficient, the other that it is inefficient.
ii.  What facts would you seek to “choose” between the two explanations?

b.  Microsoft was also accused of withholding operating system information from developers and thereby favoring its internal app developers. Under what (if any) economic conditions would Microsoft have an incentive to raise the cost to third parties of writing DOS or Windows applications?  Discuss both efficiency and "market power" incentives.

c.  Microsoft was also accused of having a policy of “Vaporware” in which it would announce a “shortly” forthcoming product at the same time that a competitor introduces a product.  For example, shortly before IBM’s OS/2 entered the market, with its ability to simultaneously operate multi-programs, Microsoft announced that Windows 3.1 would be forthcoming in the near future and that it would also have similar functionality.  In fact, Windows 3.1 wasn’t released for 18 months.  Provide an efficiency based and a market power based explanation and explain what information you would seek to select between them.
3.  Brandname drugs.

a. Does the fact that most brandname drugs face many therapeutic alternatives imply little market power? 

b.  Does a brandname drug have market power after generic entry?

c.  Why do brandname drugs typically not lower (sometimes raising) price with generic entry?

d.  If patents are intended to increase the return from innovation, won’t private agreements limiting competition between a patent holder and a non-fringing entrant be efficient?

4. Hybestosis Inc. has a patent on clutch pads used in the transmissions for heavy earth moving equipment.  They sell about 95% of clutch pads used in such equipment.  Hybetosis recommends the pads be replaced after 500 hours of use though the use can be extended to about 700 hours though the installation of stronger springs and tensioners.  Hybestosis has a deal with the transmission manufacturers under which failure to use the Hybestosis springs and tensioners voids the manufacturer warranty on the transmissions.

a.  Provide two alternative explanations for why do Hybestosis would effectively “require” the use of Hybestosis springs and tensioners?

b.  How would the following relate to your explanations:  


i.  whether Hybestosis’s market share is 45% or 95%.

ii.  whether the Hybestosis springs and tensioners are priced competitively;


iii. whether Hybestosis has been selling clutch pads for 1 year or 10 years.

5.  Assume that the monopoly manufacturer (M) of Do-hinkies sells in the town of  Rinkydink through a single retailer (R).  The demand facing the retailer is given by Q=100-PR.  The marginal cost of manufacture is 20 per unit.  There is no marginal cost of retailing.

a.  What is the profit maximizing price for the manufacturer?

b.  If the manufacturer could set a maximum resale price to retailer, what would the profit maximizing manufacturer and resale prices be?

c.  Would such a maximum resale price be efficient?

Now assume the retailer finds a way to sell Fakedo-hinkies as real.  The retailer can acquire the Fakedo-hinkies for 0 per unit.  If a customer buys a Fakedo-hinky, he or she never buys another Do-hinky.  The interest rate is such that the value of the profit flow from continued Do-hinky sales is twice that of a one time sale.

d.  How would the manufacturer react in pricing to the presence of the Fakedo-hinkies if resale price cannot be controlled?

e.  Is the existence of Fakedo-hinkies efficient?

f.  If the manufacturer could set a minimum, but not a maximum resale price, what minimum resale price and what manufacturer price would be set?

g.  If the manufacturer could set a maximum, but not a minimum resale price, what maximum resale price and what manufacturer price would be set?

h.  If both a minimum and a maximum resale price could be set, what minimum resale price, what maximum resale price, and what manufacturer price would be set?

6.  Gilbarco is the leading manufacturer of retail gasoline dispensers in the United States with a market share of about fifty percent.  Three other companies also make retail gasoline dispensers.  Gilbarco, and each of Its competitors, sells through petroleum equipment distributors who sell hundreds of items and parts used at retail service stations.  Each of the four manufacturers of retail gasoline dispensers has an exclusive dealing policy with its distributors and each manufacturer assigns only one distributor to each metropolitan area.  Provide an efficiency based and an alternative “market power” based explanation for the exclusive dealing and territory policies?  What evidence would you use to evaluate which of your explanations is more likely correct?
7.  The FTC recently accused Toys R Us of using its buying power to stifle competition from low-priced warehouse chains such as Price-Costco.  Toys R Us has about a thirty percent share of retail toys sales.  The accusation arose from Toys R Us’s policy of not carry toys that the toy manufacturer sold through Costco and Sam’s Club at Christmas time.  Provide an efficiency based justification for the Toys R Us policy of not carrying the same products as available at the warehouse chains.  Can there be adverse competitive impacts from the policy?
8.  A few years ago, Petrolane Propane and Suburban Propane merged in Alaska.  As a result they had a market share at wholesale of 90 percent of propane delivered in the Anchorage area.

a.  Would you expect Petrolane-Suburban to have market power?   What is the significance of the market share?  Be specific as to what facts are (or would be) significant in your evaluation and why.

b.  Suburban-Petrolane was accused of having a “monopoly practice” of a “owner only” fill rule.  Under this rule, they would fill only tanks that they owned and leased to the customers.  Provide a monopolization and an efficiency explanation for such a rule and suggest “facts” that would distinguish between the alternative explanations.   
9.  Provide an economic explanation for each of the following and explain how you would test your explanation:

a.  Chicken Delight required its franchisees to use its napkins, buckets and plastic eating utensils. Is this requirement efficient?

b.  McDonalds sells a full meal deal for less than the sum of the fries, drink and burger prices.

c.  Jerrold Electronics started Community Cable TV Systems in the 50s.  Jerrold required its customers (typically municipalities) to use its reception equipment for the first year of the contract.  Is this requirement efficient?

d.  A major university that charges tuition by the credit hour requires its students to purchase at least $1000 in on campus meals and it also prohibits independent booksellers from selling on campus.

